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Which of the following is a conjunction? Answer
option
b
a)with b) because c)therefore d) hereby because
She sings beautifully that everyone enjoys her
performance a
a) so | b) as | ¢) such | d) that SO
Which of the following sentence is/are incorrect?
A. ‘Shall’ with the subject in second and third person introduce the
idea of compulsion.
B. “Will’ with the subject in the first person expresses bleak sense of d
determination.
C. ‘Should’ with second and third person means ‘ought to’
D. More than one of the above.
a)A&B | b) C only | ¢) D only | d) B only B only
Assertion(A): We can use adjectives after a linking verb.
Reason(B): Linking verbs are verb that don’t show an action but
rather describe an subject. The subject compliment after the linking a
verb describes the subject.
a) Both A and | b) Both A and | ¢)A is true but | d) Ais false but | Both A and
R true and R is | R true but R is | R is false R is true R true and R
the correct | not the correct is the correct
explanation of | explanation of explanation
A A of A
Match the following synonyms
A. Artful i. Poll A
B. Ballot ii. Crafty
C. Chorus iii. Misleading
D. Deceptive v. Refrain
a) A-ii, B-i, C- | b)A-iv, B-iii, | ¢)A-iii, B-i, C- | d) A-ii B-iii, C- | A-ii, B-i, C-
iv, D-iii C-ii, D-i ii, D-iv i, D-iv iv, D-iii
The speed of light with the rise in the temperature of the medium? ¢
a)Increase b)Decrease ¢)Remain d) Drops Remain
unaltered sharply unaltered
Arjuna award is given for c
a) Bravery in | b) Excellence | c) Excellence | d)  Excellent
the battle field | in archery in sports service during EX cellence
1n sports
emergency
Which of the following is/are true in regard to Indian railway?
A. It is the costly means of transportation.
B. The chief source of income is transportation of goods. b
C. It is the only largest employer.
D. Indian railways services are available only in selected cities.
a)A&D | b)B& Conly |c)Bonly | d) C only B & C only
Assertion(A): The solar eclipse occurs as a natural phenomenon.
Reason(B): The reason is rotation of earth and moon around the sun a

and when the moon comes in between the sun and the earth.
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a) Both A and | b) Both A and | ¢)A is true but | d) Ais false but | Both A and
R true and R is | R true but R is | R is false R is true R true and R
the correct | not the correct is the correct
explanation of | explanation of explanation
A A of A
10 Match the full form with their Acronym
A. UNESCO i. United Nations Children's Fund
B. DRDO i1.United Nations Educational, Scientific and
Cultural Organization b
C. UNICEF iii. Defence Research and Development
Organisation
D. ISRO iv. Indian Space Research Organization
a) A-ii, B-i, C- | b)A-ii,  B-iii, | ¢)A-ii, B-iv, C- | d) A-ii B-i, C- | A-ii, B-iii,
iii, D-iv C-i, D-iv iii, D-i v, D-iii C-i, D-iv
11 Pema Khandu recently became the Chief Minister of which b
Northeastern state?
a)Assam b)Arunachal ¢) Tripura d)Meghalaya Arunachal
Pradesh Pradesh
12 Recently, who has been appointed as the next Chief of the Army Staff b
in 20247
a) Mukesh | b) Upendra | ¢) Dheerendra | d) Manjit | Upendra
Chadha Dwivedi Singh Kumar Dwivedi
13 Which state /states recently launched the ‘Mukhya Mantri Nijut
Moina (MMNM)’ scheme to promote girl education in the state?
A. Assam D
B. West Bengal
C. Rajasthan
D. New Delhi
a) A& Donly |b)C only | ¢)D only | d)A only A only
14 Assertion(A): New elected Govt. of India is formed by NDA.
Reason(B): It is a alliance of parties lead by BJP A
a) Both A and | b) Both A and | ¢)A is true but | d) Ais false but | Both A and
R true and R is | R true but R is | R is false R is true R true and R
the correct | not the correct is the correct
explanation of | explanation of the
A A explanation
of A
15 Match the ministry with the name of minister we recently appointed
New cabinet of Govt. of India in 2024.
A. Minister of Finance 1. Shri Amit Shah
B. Minister of Road Transport | ii. Shri Nitin Jairam Gadkari a
and Highways
C. Minister of Home Affairs; | iii. Shri Rajnath Singh
D. Minister of Defence iv. Smt. Nirmala Sitharaman
a) A-iv, B-ii, C- | b)A-iv, B-iii, | ¢)A-iii, B-i, C- | d) A-ii B-i, C- | A-iv, B-ii,
i, D-iii C-ii, D-i ii, D-iv iii, D-iv C-i, D-iii
16 If Reena says, “Anjali's father Raman is the only son of my father-
in-law Ramanand”, then how is Piyu, who is the sister of Anjali, d

related to Ramanand?




a) Wife b)Sister c)Sister in law | d)Grand Grand
daughter daughter
17 Choose the number pair/group which is different from others. b
a) 40:50 | b)30:36 | ©)8:10 | d)28: 35 30:36
18
Statements: In a one day cricket match, the total runs made by a team
were 200. Out of these 160 runs were made by spinners.
Conclusions:
1) 80% of the team consists of spinners. c
i1)The opening batsmen were spinners.
A. Only conclusion I follows
B. Only conclusion II follows
C. Either I or II follows
D. Neither I nor II follows
a)A&D | b) C only | ¢) D only | d)A only D only
19 Assertion(A): An Informal Gathering occurs when a group of people
get together in a casual, relaxed manner.
Reason(B): After finding out about his promotion, Jeremy and a few b
coworkers decide to go out for a quick drink after work.
a) Both A and | b) Both A and | ¢)A is true but | d) Ais false but | Both A and
R true and R is | R true but R is | R is false R is true R true and R
the correct | not the correct is not the
explanation of | explanation of correct
A A explanation
of A
20 Match the following
A. Mean 1. The middle number in a
sorted list of numbers
B. Median ii. Average of data
C. Mode ii. A statistical measure that a
express the extent to which two
variables are linearly related
D. Correlation iv. The number in a set of
numbers that appears the most
often
a) A-ii, B-i, C- | b)A-iv, B-iii, | ¢)A-iii, B-i, C- | d) A-ii B-i, C- | A-ii, B-i, C-
iv, D-iii C-ii, D-i ii, D-iv iii, D-iv iv, D-iii
21 Mann-Whitney U test is a measurement of A
a) group | b) group | ¢) relationship | d) significance a) group
difference difference between of error difference
when data are | when data are | variables when data
non parametric | parametric are non
parametric
22 Assertion(A): When there are extreme scores in a series which affect
the mean, we use median as a measure of central tendency. A

Reason(B): Extreme scores in a series do not affect the median.




a) Both A and | b) Both A and | ¢)A is true but | d) Ais false but | Both A and
R true and R is | R true but R is | R is false R is true R true and R
the correct | not the correct is the correct
explanation of | explanation of explanation
A A of A
23 Which technique measure what in data
A. Standard Deviation 1. Average performance of the group
B. Mean i1. Central mid-point of the data C
C. Median iii. Deviation of the each score from
mean value
D. Quartile Deviation iv. Variability around median
a) A-1, B-ii, C- | b)A-iv, B-iii, | ¢)A-iii, B-i, C- | d) A-ii B-i, C- | A-iii, B-i, C-
iii, D-iv C-ii, D-i ii, D-iv iii, D-iv ii, D-iv
24 In order to ensure maximum acceptability of data analysis and its B
interpretation, the help can be taken from
a)statistics b) graphs and | ¢) computer d) hard disk graphs and
diagrams diagrams
25 Which statistics is used to compare significant differences between C
three or more groups together at one time?
a)t test b) ANCOVA c)ANOVA d) Pearson r ANOVA
26 Plagiarism can be avoided by B
a) Copying the | b) Paraphrasin | c¢) Cut and d)Quoting Paraphrasing
work of others | g the author’s | pasting from directly the author’s
accurately text in your the Internet without text in your
own words revealing the own words
source
27 The feasibility of a research study should be considered in light of D
a) Cost and |b) Access to | c)Potential d) All of the | All of the
time required | gatekeepers ethical above above
to conduct the | and concerns
study respondents
28 A radical perspective in ethics suggest that D
a) Researchers | b) The use of | c) The power | d) Ethics | Ethics
can do checklists  of | of Institutional | should be | should be
anything they | ethical actions | Review Boards | based on self- | based on
want 1s necessary should be | reflexivity. self-
strengthened reflexivity.
29
Match the plagiarism classification according to UGC guidelines
A. Level 0 1. Between 10 to 40% C
B Level 1 i1. Between 40 to 60%
C. Level 2 iii. Up to 10%
D. Level 3 iv. Above 60%
a) A-1, B-ii, C- | b) A-iv, B-iii, | ¢)A-iii, B-i, C- | d)A-ii, B-iii, | A-iii, B-i, C-
iii, D-iv C-ii, D-i ii, D-iv C-1, D-iv ii, D-iv
30 The research is an ethical process. Here the meaning of ethics is C




a)The external | b) the quality | c)the d) control of | the
beauty of the | of the research | fulfilment of | the research fulfilment of
research content research values research
values
31 Which of the following steps in research are least vulnerable to
research ethics?
A. Identifying the research variables
B. defining the research variables A
C. Data collection procedure
D. Data analysis procedure
a) A & B only c)C&Donly |d)A,B&C
b) B & C only A & B only
32 Assertion (A): Every research institute has to enforce research ethics
in order to ensure the credibility and meaningfulness of human
inquiry. B
Reason (B): ICT and its use in research has abetted ethical lapses in
the conduct of research wherever it has been put in place.
a) Both A and | b) Both A and | ¢) A is correct | d) Ais false but | Both A and
R true and R is | R true and R is | but B is false | B is correct R true and R
the correct | the not correct is the not
explanation of | explanation of correct
A A explanation
of A
33 Match the following
A. Eigen factor 1. it is a metric of evaluating the
cumulative impact of an author’s
scholarly output and performance
B. h-index ii. indicator of the importance of a
. . B
journal to its field
C. impact factor iii. the number of publications with at
least 10 citations
D. 110 factor v. rating of the total importance of a
scientific journal
a) A-iii, B-i, C- | b)A-iv, B-1, C- | ¢) A-iv, B-ii C- | d) A-iii, B-i, C- | A-iv, B-i, C-
iv, D-ii ii, D-iii iii, D-i ii, D-iv i1, D-iii
34 The research papers are written in order to B
a) Gain name | b)Communicat | c)Get d) just to | Communicat
and fame e the research | promotion practice e the
writing research
35 The process of writing a researcher paper is A
a)honest b)Passive c)Investigation | d)Investigation | honest
investigation investigation for money in the interest | investigation
of society
36 A researcher wants to study the development of cognitive abilities | ¢
across different age groups. Which research method would be most
appropriate for this study?
a)Survey b) c) Cross- | d) Case study | c¢) Cross-
research Experimental | sectional sectional
research research research




37 Which ethical principle emphasizes the need to provide participants | b
with enough information about the study before they agree to
participate?
a) Debriefing | b)  Informed | c) d) Deception b) Informed
consent Confidentiality consent
38 Which of the following statements is/are TRUE regarding scientific | ¢
rigor in psychological research?
A. The use of complex statistical analyses
B. The level of detail in the research report
C. The application of systematic and careful methods to ensure
the quality of research
D. The extent to which research findings are consistent with
popular beliefs
a)Aand B b) Band D c) C only d) D only
¢) C only
39 Read the statements below here for assertion and justification c
A (Assertion): The goal of correlational research is to assess
relationships between variables
B (Justification): Correlational research assesses the causal impact of
one variable on another
a) Both A and | b)Aand Bare |c)Aiscorrect | d)Ais Answer ¢) A
B are correct | both correct but B is incorrect but B | is correct but
and B is the | but B is not the | incorrect is correct Bis
correct correct incorrect
justification for | justification
A for A
40 In qualitative research, what is the term used to describe the process | b
of reflecting on and questioning one's own biases and
preconceptions?
a) b) Reflexivity | ¢) d) b)
Triangulation Transferability | Ethnography Reflexivity
41 What is the purpose of replication in scientific research? c
a) To b) To conduct | ¢) To validate | d) To increase | c) To
manipulate the | research the results of | the complexity | validate the
data to support | without  any | previous of  research | results of
a desired | ethical studies and | designs previous
outcome constraints enhance their studies and
reliability enhance
their
reliability
42 Which of the statements below is/are TRUE? c

“when

researchers

disclose

transparently, they are promoting:
A. Anonymity
B. Generalizability

their

methods

and procedures




C. Replicability
D. Subjectivity

a)Aand B b) Band C c¢) C only d) D only ¢) C only
43 Which step in the research process involves formulating research | a
questions, hypotheses, and defining variables?
a) Problem b) Data | ¢) Data | d)Data a) Problem
formulation collection analysis interpretation | formulation
44 When conducting a content analysis, what is the difference between | a
manifest and latent content?
a) Manifest b) Manifest | c) Manifest | d) Manifest | a)Manifest
content is | content refers | content is | content is | content is
explicit, while | to researcher | difficult to | secondary explicit,
latent content | bias, while | analyze, while | data, while | while latent
is hidden | latent content | latent content | latent content | content is
meaning is unbiased is is primary data | hidden
straightforwar meaning
d
45 If the p-value obtained from an independent t-test is 0.03, what can | b
be concluded at a significance level of 0.05?
a)Fail to reject | b) Reject the | ¢) There is no | d) The t-test is | b) Reject the
the null | null hypothesis | conclusion to | inconclusive null
hypothesis draw hypothesis
46 Read the statements below here for assertion and justification c
A (Assertion): A dependent t-test (paired-sample t-test) is appropriate
for comparing means of two related groups
B (Justification): A t-test is a good measure of dispersion that
allows to copare two exclusive groups
a) Both A and | b)Aand Bare |c)Aiscorrect |d)Ais Answer ¢) A
B are correct | both correct but B is incorrect but B | is correct but
and B is the | but B is not the | incorrect is correct Bis
correct correct incorrect
justification for | justification
A for A
47 Standard deviation is a measure of: d
a) range b) central | c¢) inference d) dispersion d) dispersion
tendency
48 What distinguishes the experimental method from the quasi- | b
experimental method?
a) The b) The random | c¢) Different d) The b) The
scientific assignment of | levels of an sensitivity of | random
status of the participants to | independent the dependent | assignment
research. conditions. variable exist. | variable. of
participants
to
conditions.




49 Which of the following statements are TRUE?
In multiple regression, how is the term "multicollinearity" defined as
the -
A. Presence of outliers in the data. b
B. Correlation between independent variables.
C. Number of observations in the dataset.
D. Interaction between dependent and independent variables.
a)A b)B c)C d)D b)B
50 Arrange the following correlations in ascending order in terms of
their strength of relationship
!) -0.75 b
i) —-0.30
iii) 0.40
1v) 0.68
a)iv,i,iiiandii | b) ii, iii, iv and | ¢) i, ii,iiiand iv | d)i,1v,iiiandii | b) ii, iii, iV
1 and 1
51 Bibliography given in a research report d
a) Shows the | b) Makes the | c) Design of | d) Helps those | Helps those
vast report the research interested  in | interested in
knowledge of | authentic further further
the researcher research  and | research and
studying  the | studying the
problem from problem
another angle | from another
angle
52 We review the relevant literature to know: d
a) What c) Who are the | d) All of the
concepts and | b) What is | key above
theories have | already known | contributors to Agb(;izhe
been applied to | about the topic | the topic
the topic
53 Which of the following statement is correct?
A. Reliability ensures the validity
B. Validity ensures reliability d
C. Reliability and validity are independent of each other
D. Reliability does not depend on objectivity
a)A&Bonly |[b) A, B & C|c)C&Donly |d)Conly
C only
only
54 Assertion (A): Correlational research allows us to assess the causal
impact of one variable on another. d
Reason (B): Lack of external validity limits the extent to which the
findings of a study can be generalized
a) Both A and | b) Both A and | c)A is true but | d) A is false but Ais false
R true and R is | R true but R is | R is false R is true :
but R is true

the correct

not the correct




explanation of | explanation of

A A
55 Match the method with their final result value
A. ANOVA I.U test
B. Pearson correlation i1 F value c
C. Mann-Whitney iii. R value
D. Multiple correlation iv. r value
a)A-i, B-ii, C- | b)A-iv, B-iii, | ¢)A-ii, B-iv, C- | d) A-i, B-iv, C- | A-ii, B-iv, C-
iii, D-iv C-ii, D-i I, D-iii ii, D-iii I, D-iii
56 Which of the following is not a data-collection method? d
a)Semi- b) Part}01pant c)Survey d) 'Research Research
structured observation questions .
) . questions
nterview
57 Which of the following is true for experimental research?
A. Purposive sampling
B. Manipulation of independent variables b
C. Controlling of extraneous variables
D. Survey in field
a) A& Bonly |[b)B&Conly |c)C&Donly |d)A&Donly | B&C only
58 The research antagonistic to ex-post facto research is b
a)Historical b)Experimenta | c)Correlational | d)Normative Experimenta
research | research research research | research
59 Match the following:
A.MLA style 1. American Psychological Association
B. UGC-CARE ii. citation style used in medical and b
scientific disciplines
C.APA iii. Modern Language Association
D. Vancouver iv. Consortium for Academic and
Research Ethics.
a) A-1, B-ii, C- | b)A-iii, B-iv, | ¢)A-iii, B-i, C- | d) A-ii B-i, C- | A-iii, B-iv,
iii, D-iv C-i, D-ii ii, D-iv iii, D-iv C-i, D-ii
60 Testing hypothesis requires a
a)Inferential b) Descriptive | c)Data analysis | d)Data Inferential
statistics statistics preparation statistics
61 People who are less likely to help someone because there are a lot of d
people present would be exhibiting:
a) Group think | b)Group c¢) Conformity | d)Diffusion of | Diffusion of
polarization responsibility | responsibilit
y
62 Muszafer Sherif believed that ~~ would reduce prejudice b
behavior.
a)group b)working c)group think | d) group role working
sharing together to together to
solve problem solve
problem
63 Which of the following are/is related to social influence?
A. Group think
B. Conformity a

C. attitude
D. Altruism
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a)A & B only b) A & C only c)B&Conly |d)C&Donly | A&Bonly
64
Assertion(A): Self —interest is considered as common phenomena I
the process of social exchange as like greed and competence. c
Reason(B):In social exchange theory, self-interest is considered as
negative thing.
a) Both A and | b) Both A and | ¢)A is true but | d) A is false but
R true and R is | R true but R is | R is false R is true .
the correct | not the correct Als‘true but
X X R is false
explanation of | explanation of
A A
65 Match the following theory with theorists:
A. Cognitive dissonance 1. Weiner
B. Attribution theory ii. Festinger c
C. Social identity theory iii. Sternberg
D. Triangular theory of love iv. Tajfel
a) A-1, B-ii, C- | b) A-iv. B-ii, | ¢)A-ii, B-i, C- | d) A-ii, B-i, C- | A-ii, B-i, C-
iii, D-iv C-iii, D-iv iv, D-iii. iii, D-iv. iv, D-iii.
66 If you have a friend who is reluctant to help you clean your entire
room, you may be successful by asking him to simply help you move d
one item in your room. this approach is referred to as:
a)By stander | b) Altruism c)Door-in-the - | d)Foot-in-the- | Foot-in-the-
effect foot door door
67 Which of the following are true for characteristics of groups?
A. Size
B. Norms a
C. attitude
D. Feelings
a)A & B | b)A& D [c)B&C [d)C&D A&B
68 Group thinking is defined as: d
a)The tendency | b) The loss of | c) When an|d) Thinking | Thinking
to do less in a | identity due to | attitude that revolves | that revolves
group situation | a group | becomes around keeping around
situation stronger in | harmony keeping
group presence | within a group | harmony
through  not within a
disagreeing group
with group | through not
opinion disagreeing
with group
opinion
69 Match the following pairs:
A. Bystander effect 1. the tendency for people to form
relationships with those who are a

close by

B. Primacy effect

need.

11. the presence of others discourages
someone from helping someone in
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C. Proximity effect

1ii. tendency to evaluate a disliked or
disreputable person of our group

D. Black sheep effect 1v. a cognitive bias
a) A-ii, B-iv, C- | b)A-I, B-ii, C- | ¢)A-iv, B-iii, | d)A-ii, B-iii, | A-ii, B-iv,
I, D-iii iii, D-iv C-ii, D-i C-iv, D-i C-1, D-iii
70 Social Facilitation occurs: c
a) To the|b) To the|c) When the |d) When the
tendency for | tendency  to | presence of | presence of When the
presence of
people to do | keep personal | other people | other  people other peopl
less in a group | opinions to | watching watching peopie
} . . watching
setting themselves for | improves a | hinders al .
fear of | person's person's 1mprove's 4
. person's
upsetting  the | performance performance
performance
group
71 Long axons are present at b
a) Sympathetic | b) C) Motor | d) Aftferent | Parasympath
nerves Parasympathet | neurons neurons etic nerves
ic nerves
72 What joins the left and right hemisphere? b
a) Cerebellum | b) Corpus | ¢) Basal | d) Medulla Corpus
callosum ganglia oblongata callosum
73 Which of the following statements is/are true? a
A: Neurons are cells specialized for communicating information.
B: Neurons are known as the basic building blocks of the nervous
system.
C: Glial cells are those cells that surround, support, and protect
neurons.
D: Dendrites are the parts of neurons that conduct action potentials
toward the cell body.
a) All are|b)OnlyA,B& |c)OnlyB, C & | d) None of the All are
correct C are correct D are correct above are correct
correct
74 The neurotransmitter that influences normal memory function is a
a) b) Dopamine ¢) Serotonin d) Acetylcholin
Acetylcholine Norepinephrin e
e
75 Match the function of each neurotransmitter with their functions: a
A Serotonin Plays a role in the regulation of mood,
eating, sleep, and arousal
B. Dopamine Involved in movement, attention, and
learning
C. Norepinephri |.Primarily involved in control or
ne alertness and wakefulness.
D. GABA .Abnormal levels have been implicated
(gamma-amino in sleep and eating disorders.
E. butyric acid)
a) All are|b)OnlyA,B& |c)OnlyB, C & | d) None of the All are
correct C are correct D are correct above are correct
correct
76 How many spinal nerves enter spinal cord? b
a) 21 | b) 31 | ¢) 41 | d) 11 31
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77 Which of the following statements is/are true? a
A: Agonist is a chemical substance that mimics the action of a
neurotransmitter at a receptor site.
B: Antagonist is a chemical substance that inhibits the effect
normally produced by a neurotransmitter at a receptor site.
C: Many painkillers (analgesics) occupy receptor sites normally
stimulated by endorphins.
D: Drugs affect our feelings or behavior by altering the process of
synaptic transmission.
a) All are| b)OnlyA,B |c)OnlyB,C & | d) None of the All are
correct & C are D are correct above are correct
correct correct
78 Damage to ............. produces three major symptoms: inability to b
recognize spoken words (i.e., to tell one word from another), inability
to understand the meaning of these words, and inability to convert
thoughts into words.
a) Broca's area | b) Wernicke's | ¢) Cerebellum | d) Basal | Wernicke's
area ganglia area
79 Benya so easily remembers his old friend's telephone number that he c
finds it difficult to recall his new friend's number. Benya's difficulty
best illustrates
a) Retroactive | b) State- | c)  Proactive | d) Repression Proactive
interference dependent interference interference
memory
80 Schizophrenia and Parkinson’s disease are both linked to changes in a
which neurotransmitter?
a) Dopamine b) Serotonin ¢) Glutamate d) Dopamine
Acetylcholine
81 Which one is a feature of creativity? b
a) Convergent | b) Divergent | ¢c) Memorizing | d) Conformity | Divergent
thinking thinking thinking
82 Find the right matching pairs:
A. J. P. Guilford 1. “Four C” model of creativity
B. Kaufman and Beghetto | ii. Explicit-Implicit Interaction
theory of creativity a
C. Helie and Sun 1. Convergent and divergent
thinking
D. Finke et al. iv. Geneplore model of creativity
a) A-iii, B-1, C- | b) A-iv, B-i, C- | ¢) A-iii, B-ii, | d) A-iii, B-1, C- | A-iii, B-i, C-
ii, D-iv i1, D-iii C-i, D-iv iv, D-ii ii, D-iv
&3 Which of the following statement is/are True?
A. Divergent thinking is the ability to generate multiple possibilities
or solutions for a problem.
B. Divergent thinking is thinking outside the box. a
C. Creativity is related to convergent thinking.
D. Convergent thinking is breaking away from traditional and
conventional ways of thinking.
a) Aand B \b)BandC \c)CandD ]d)Donly Aand B
84 There are two statements marked as Assertion (A) and Justification
(B). Read them and answer as per the codes provided below: c
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A: Intelligence does not ensure creativity.

B: Creativity and intelligence have no correlation.

a) Both A and | b) Both A and | ¢) A is true but | d) A is false but
B are true and | Baretrue but B | B is false. B is true.
B is the correct | is  not  the A is true but
explanation of | correct B is false.
A. explanation of
A.
85 Which of the following is related to being aware of one’s existing c
knowledge and understanding?
a) Creativity b) Cognitive | ¢) d) Perception | Metacogniti
dissonance Metacognition on
86 Which of the following statement is/are True?
A. Creative thinking is not facilitated by convergent thinking.
B. Creative thinking is facilitated by originality. a
C. Creative thinking is not facilitated by flexibility in thinking.
D. Creative thinking is not facilitated by novelty.
a)Aand B b) Band C c)Cand D d) Dand B Aand B
87 There are two statements marked as Assertion (A) and Justification
(B). Read them and answer as per the codes provided below:
A: Thinking skills can be used in a variety of settings. ¢
B: Thinking skills are tested only through school examinations.
a) Both A and | b) Both A and | ¢) A is true but | d) A is false but
B are true and | Baretrue but B | B is false. B is true.
B is the correct | is  not  the A is true but
explanation of | correct B is false.
A. explanation of
A.
88 Critical thinking is about . c
a) Discovering | b) Discovering | c) Analysing | d) None of the | Analysing
brainstorming | different problems and | above problems
ideas perspectives evaluating and
outcomes evaluating
outcomes
89 Arrange the steps of creative process: c
A. lllumination
B. Preparation
C. Incubation
D. Verification
a)D,C,B,A |b)D,A,C,B |¢)B,C,A,.D |dABCD |B,CAD
90 Judgment and decision-making are .
a) interrelated | b) opposite | c) notrelated to | d) None of the | interrelated
processes processes each other above processes
91 “The self” in Indian philosophy includes the mental, physical, c
social and aspect
a)Interpersonal \ b) Thinking \ c¢)Spiritual \ d) Reality Spiritual
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92

Find the right matching pairs:

A. In Sufism, Nafs means 1 The heart
B. Qalb ii The spirit a
C. Ruh iii The self
D. Al-Nafs al-Muthmainnah iv A clear soul
a) A-iii, B-1, C- | b) A-iv, B-i, C- | ¢) A-iii, B-ii, | d) A-iii, B-1, C- | A-iii, B-i, C-
ii, D-iv ii, D-iii C-i, D-iv iv, D-ii ii, D-iv
93 Which of the following statement is/are True?
A. Positivism posits that the only way to acquire knowledge is to
follow the methods of the sciences.
B. Positivism posits that the only way to acquire knowledge is
through philosophy. a
C. Positivism posits that the only way to acquire knowledge is
through positive attitude.
D. Positivism is a philosophical stance and an approach to research
that emphasizes the importance of empirical evidence.
a)Aand D ‘b)BandC ‘c)CandD ‘d)DandB Aand D

94 There are two statements marked as Assertion (A) and Justification
(B). Read them and answer as per the codes provided below:

A: The Bhagavad Gita emphasizes on the necessity of Action, c

Karma.

B: Bhagavad Gita teaches about Puruskar or rewards only.

a)Both A and B | b)Both Aand B | ¢)A is true but | d)A is false but

are true and B | are truebut Bis | B is false. B is true. .

is the correct | not the correct A 15 true but
; X B is false.

explanation of | explanation of

A. A.

95 In Buddhism, Anicca means a
a)Instability or | b)Everything c) No soul or | d) None of the | Instability or
lack of | leads to | people can and | above lack of
permanence suffering do change permanence

96 In India, the first department of Psychology was in b
a) University | b) Calcutta | c) Banaras | d) Jawaharlal | Calcutta
of Delhi University Hindu Nehru University

University University
97 Find the matching pairs:
A. 8 fold path of Buddhism i Bodh Gaya
B. Buddha got hisenlightenment i1 Lumbini a
C. Birthplace of Buddha iii Right Speech
D. Death of Buddha v Kushinagar
a) A-iii, B-1, C- | b) A-iv, B-i, C- | ¢) A-iii, B-ii, | d) A-iii, B-1, C- | A-iii, B-i, C-
ii, D-iv i1, D-iii C-i, D-iv iv, D-ii ii, D-iv
98 Which of the following statement is/are True?
a

A. In Integral Yoga, Supra mentalisation includes realisation of
enlightenment.
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B. In Integral Yoga, Supra mentalisation includes realisation of the
past.

C. In Integral Yoga, Supra mentalisation includes realisation of the
id.

D. In Integral Yoga, Supra mentalisation includes realisation of the
ego.

a) A only b) Band C c)Cand D d) D only A only
99 There are two statements marked as Assertion (A) and Justification
(B). Read them and answer as per the codes provided below:
A: In Sufism, the self or ego can be viewed along a continuum. ¢
B: In Sufism, the self or ego is viewed as a negative trait.
a)Both Aand B | b) Both A and | ¢) A is true but | d) A is false but
are true and B | B are true but B | B is false. B is true.
is the correct |is not the A is true but
explanation of | correct B is false.
A. explanation of
A.
100 | The book “The Inner World: A Psychoanalytic Study of Childhood d
and Society in India” is written by
a) Girishwar b) Durganand | c¢)J.B.P. Sinha | d) Sudhir Sudhir
Mishra Sinha Kakar Kakar
101 In memory, ToT phenomenon means b
a)Top to the | b)Tip of the |c)Top of the | d)Tip ofthetail | Tip of the
end tongue list tongue
102 | Type Questions here for matching pairs:
A. Mnemonics 1 Working memory
B. Short term memory 11 Unlimited capacity a
C. Long term memory 1ii Memory
D. Sensory memory iv Shortest duration
a) A-iii, B-1, C- | b) A-iv, B-i, C- | ¢) A-iii, B-ii, | d) A-iii, B-1, C- | A-iii, B-i, C-
ii, D-iv i1, D-iii C-i, D-iv iv, D-ii ii, D-iv
103 Which of the following statement is/are True:
A. A reinforcement schedule is the arrangement of the delivery of
reinforcement after the learning.
B. A reinforcement schedule is the rate of responses by the subject c
without any reward.
C. A reinforcement schedule is the arrangement of the delivery of
reinforcement during conditioning trials.
D. Fixed Ratio is a type of reinforcement schedule.
a)Aand D b) B only c)Cand D d) D and B Cand D
104 There are two statements marked as Assertion (A) and Justification
(B). Read them and answer as per the codes provided below:
c

A: The pigment, lodopsin, is found in Cones

B: The lodopsin helps in black and white vision
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a)Both A and B

b)Both A and B

C)A is true but

d)A is false but

are true and B | aretrue but Bis | B is false. B is true. .
is the correct | not the correct A Is true but
X X B is false.
explanation of | explanation of
A. A.
105 | Motor learning is d
a) b)Intentional c¢)Incidental d) Intentional | Intentional
Occupational | only only and Incidental | and
only Incidental
106 | Proactive inhibition is c
a) No | b)New c¢)Previous d)Inhibition to | Previous
interference in | learning learning develop a habit | learning
learning interferes interferes new interferes
occurred recall of | learning new learning
previous
learning
107 | Questions here for matching pairs:
A. Atkinson-Shiffrin Theory 1 Perception
B. Signal Detection Theory ii Emotion a
C. Cannon-Bard Theory iii Memory
D. Decay Theory iv Forgetting
a) A-iii, B-1, C- | b) A-iv, B-i, C- | ¢) A-iii, B-ii, | d) A-iii, B-1, C- | A-iii, B-i, C-
ii, D-iv ii, D-iii C-i, D-iv iv, D-ii ii, D-iv
108 | Which of the following statement is/are True?
A. Observational learning happens only in experimental condition.
B. Observational learning was developed by Albert Bandura. b
C. Observational learning is a kind of learning where human beings
learn through observing others.
D. Observational learning occurs only during childhood.
a) A only b) Band C c)Cand D d) D only Band C
109 There are two statements marked as Assertion (A) and Justification
(B). Read them and answer as per the codes provided below:
A: Meissner corpuscle is related to Palms of the hand. ¢
B: Meissner corpuscle enables our foot movement.
a)Both Aand B | b) Both A and | ¢) A is true but | d) A is false but
are true and B | B aretrue but B | B is false. B is true.
is the correct |is not the A is true but
explanation of | correct B is false.
A. explanation of
A.
110 Which information is not correct about Trichromatic Theory b
a)lt suggests | b)lt suggests | c)It is a theory | d)It suggests | It suggests
that we have | that we have | of colour | that each type | that we have
perception of cone is
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three types of | two types of primarily two types of
cones cones receptive  to | cones
different
wavelengths of
light
111 Which of the following is not a type of growth? c
a)Social b) Physical c)Personality | d) All of the Personality
growth growth growth above growth
112 Find the right matching pairs:
A. Kohlberg's theory 1 Psychosexual Development
B. Freud's theory ii Cognitive Development a
C. Piaget'stheory 111 Moral Development
D. Bandura'stheory v Social Learning
a) A-iii, B-i, C- | b) A-iv, B-i, C- | ¢) A-iii, B-ii, | d) A-iii, B-i, C- | A-iii, B-i, C-
ii, D-iv ii, D-iii C-i, D-iv iv, D-ii ii, D-iv
113 Which of the following statement is/are True:
A. In Piaget’s stage of development, a child sees the object but
forgets when it is no more in front in Sensorimotor stage.
B. In Piaget’s stage of development, a child sees the object but
forgets when it is no more in front in Formal Operational stage. a
C. In Piaget’s stage of development, a child sees the object but
forgets when it is no more in front in Preoperational stage.
D. In Piaget’s stage of development, a child sees the object but
forgets when it is no more in front in Concrete operational stage.
a) A only ‘ b) Band C ‘ c)Cand D ‘ d) D only A only
114 There are two statements marked as Assertion (A) and Justification
(B). Read them and answer as per the codes provided below:
A: Ecological theory is a theory of human development. c
B: Ecological theory explains the psychosexual developmental
stages of human beings.
a)Both A and B | b)Both Aand B | ¢)A is true but | d)A is false but
are true and B | are truebut Bis | B is false. B is true. .
. A is true but
is the correct | not the correct )
; X B is false.
explanation of | explanation of
A. A.
115 Which stage of psychosocial development takes place during young a
adulthood?
a)Intimacy vs. | b)Ego Integrity | c)Initiative vs. | d)Generativity | Intimacy vs.
Isolation vs. Despair Guilt vs. Stagnation | Isolation
116 | In CBT for depression, the individual may be asked to b
a)Keep a | b)Make an | c)Keep a mood | d)Set Make an
dream diary. objective diary. attainable life | objective
assessment of goals. assessment
their beliefs. of their
beliefs.
117 Find the matching pairs: a
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A. Dream Analysis i Behaviour therapy

B. Systematic Desensitization | ii Client-centered therapy

C. Congruence 1ii Psychoanalysis
D. REBT iv  Cognitive  behaviour
therapy
a) A-iii, B-1, C- | b) A-iv, B-i, C- | ¢) A-iii, B-ii, | d) A-iii, B-i, C- | A-iii, B-i, C-
ii, D-iv ii, D-iii C-i, D-iv iv, D-ii ii, D-iv
118 Which of the following statement is/are True?

A. Behaviour therapy is considered to be most effective therapy for
phobic disorders.
B. Family therapy is considered to be most effective therapy for a
phobic disorders.
C. Psychoanalysisis considered to be most effective therapy for
phobic disorders.
D. Medication cannot be prescribed by Psychologist.
a)Aand D b) Band C c)Cand D d) Dand B Aand D

119 There are two statements marked as Assertion (A) and Justification
(B). Read them and answer as per the codes provided below:

A: The concepts of 'Enmeshment, homeostasis, circular C
causality' are related to System approach to couple therapy.
B: System approach to couple therapy was developed by Aron Beck.
a)Both Aand B | b) Both A and | ¢) A is true but | d) A is false but
are true and B | Baretruebut B | B is false. B is true.
is the correct |is not the A is true but
explanation of | correct B is false.
A. explanation of
A.

120 | Behaviour modification is a type of d
a)Client b) Cognitive c)Hypnotherap | d)Behaviour Behaviour
centered therapy y therapy therapy
therapy

121 What is Rorschach's projective test designed to measure? a
a) b) brain c) intelligence | d) sleep a)
Unconscious Unconscious
mind mind

122 Match the two columns a

A. TAT .Binet & Simon
B. Intelligence .Carl Jung
C. Inkblot test .Henry Murray
D. WAT .Herman Rorschach
a)iii,i,iv,ii b) iv,1,1ii,ii C) 11,1V, 1,1ii d) iii,i,i1,iv a) 1ii,1,1v,ii
123 The idea that you can assess someone’s personality by studying d

their face is called:
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a) phrenology | b) physiology | c)somatology | d) d)
physiognomy | physiognom
y
124 | Read the statements below here for assertion and justification c
A (Assertion): Both t-test and F-test assess group differences
B (Justification): ‘r’ coefficient also gives us idea about group
differences
a) Both A and | b)Aand Bare |c)Aiscorrect | d)Ais Answer C) A
B are correct | both correct but B is incorrect but B | is correct but
and B is the | but B is not the | incorrect is correct Bis
correct correct incorrect
justification for | justification
A for A
125 | Which of the following is NOT one of the Big Five traits? b
a) Openness b) Attitude ¢) Neuroticism | d) b) Attitude
Agreeableness
126 | Which of the statements below is/are TRUE? a
A researcher can perform regression analysis when
E. All variables are continuous
F. All variables are categorical
G. DV is categorical but IV is continuous
H. IV is categorical but DV is continuous
a) A only b) Band C c)Cand D d) D only a) A only
127 | Read the statements belowhere for assertion and justification a
A (Assertion): An informed consent needs to be obtained for all
psychological test
B (Justification): It is ethically mandatory to explain the purpose to
the participants and receive their approval as it may contain
sensitive information
a) Both A and | b)Aand Bare |c)Aiscorrect | d)Ais Answer a)
B are correct | both correct but B is incorrect but B | Both A and
and B is the | but B is not the | incorrect is correct B are correct
correct correct and B is the
justification for | justification correct
A for A justification
for A
128 | Match the two columns d
A. Man-whitney test Parametric
B. t-test .Qualitative
C. Content analysis Research tool
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D. Survey

.Non-parametric

a)iii,1,iv,ii

b) 1v,1,11,1ii

C) 11,1v,1,1ii

d) i1, 1,11,1v

d) 1v,1,11,1i1

129 | Which of the following is/are TRUE for the statement below? c
In research the correlation between two variables is significantly
negative —
A. If one increases another decrease
B. If one increases another also increase
C. The two variables have the same means
D. The two variables are not related
a) A only b) Band C c)Cand D d) D only c) A only
130 | Read the statements belowhere for assertion and justification
A (Assertion): The qualitative method is often criticized because
lacks scientific objectivity .
B (Justification): Quantitative validation and scientific rigor are
essential for generalization
a) Both A and | b)Aand Bare |c)Aiscorrect | d)Ais Answer ¢)
B are correct | both correct but B is incorrect but B | Both A and
and B is the | but B is not the | incorrect is correct B are correct
correct correct and B is the
justification for | justification correct
A for A justification
for A
131 Freud ascribed to the notion of psychic determinism, which Answer
influenced his theories of personality and approach to therapy. To option
what does this term refer? (a,b,c ord)
a) The belief | b) The belief c¢) The belief d) human d) human
that believing | that the human | that behaviour is behaviour is
in an event will | mind is consciousness | the result of the result of
make it happen | capable of determines the | childhood childhood
telepathy development experiences experiences
of personality | and innate and innate
drives drives
132 | Match the following: Answer
option
A Psychoanalytic Theory i Erickson (a,b,c or d)
B Trait Theory il Spearman
C Psychosocial Theory 111 Freud
D Two-factor Theory iv Cattel
a) iii, iv, 1, i b) iii, ii, iv, i ¢) v, ii, iii, i d) i, ii, iii, iv
a) iii, 1v, 1, ii
133 Which of the following statements is TRUE: Answer
A The Yerkes-Dobson law states that performance is best option
when there is a moderate amount of arousal. (a,b,c ord)

B. The Yerkes-Dobson law states that physiological changes in

the body create emotion.
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C. The Yerkes-Dobson law states that the body is prewired to
maintain homeostasis.
D. The Yerkes-Dobson law states that emotions and
physiological reactions occur simultaneously.

a) A |b)B o) C |d)D a) A
134 | A person who has a distorted view of their body and who weighs Answer
less than 85% of normal is said to have option
(a,b,c ord)
a)bulimia b) anorexia c) weight d) obesity. b) anorexia
nervosa nervosa cycling nervosa
135 | Which of the following statements are TRUE- If the lateral Answer
hypothalamus is destroyed, a rat will: option
(a,b,c or d)
a) Drink more water than biologically needed
b) Refuse to drink until forced to do so
C) Eat until it becomes obese
d) Refuse to eat until force-fed
a) A |b)B o) C | d)D d)D
136 | Which brain structure is primarily associated with the regulation of | Answer
emotions? option
(a,b,c or d)
a) Cerebellum | b) Amygdala c) d)Corpus b) Amygdala
Hippocampus | callosum
137 Which coping strategy involves actively changing the situation or Answer
one's response to it to alleviate stress? option
(a,b,c ord)
a)  Avoidant | b) Emotion- c) Problem- d) Wishful c) Problem-
coping focused coping | focused coping | thinking focused
coping
138 Read the statements below here for assertion and justification Answer
option
A (Assertion): In a psychological theory of stress, Lazarus and (a,b,cord)
Folkman’s transactional model suggests why individuals perceive
stress.
B (Justification): The individuals perceive a discrepancy between
the demands of a situation and their perceived ability to cope with
those demands.
a) Both A and | b)Aand Bare |c)Aiscorrect | d)Ais Answer a)
B are correct | both correct but B is incorrect but B | Both A and
and B is the | but B is not the | incorrect is correct B are correct
correct correct and B is the
justification for | justification correct
A for A justification
for A
139 | Which stress theory suggests that stress results from an imbalance Answer
between environmental demands and an individual's perceived option
resources to cope with those demands? (a,b,c or d)
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a) b) Biological ¢) Social d) Cognitive d) Cognitive
Psychodynami | theory learning theory | appraisal appraisal
¢ theory theory theory
140 | Which personality theory proposes that personality consists of five | Answer
broad dimensions, namely openness, conscientiousness, option
extraversion, agreeableness, and neuroticism? (a,b,c ord)
a) b) Trait theory | ¢) Humanistic | d) Social b) Trait
Psychodynami theory cognitive theory
c theory theory
141 What are some potential social ramifications associated with a | Answer
father's absence? option
(a,b,c or d)
a)Decreased b) Higher rates | c) Enhanced | d) Lower | b) Higher
likelihood  of | of juvenile | academic levels of | rates of
substance delinquency achievement emotional juvenile
abuse among | and criminal | and cognitive | distress  and | delinquency
children. behavior. development in | mental health | and criminal
children. issues among | behavior.
adolescents.
142 | Emphasis on the importance of play and sensory experiences of a d
child is given in
a) CBT b) ABA c¢) Speech d) Play | Play
Therapy Therapy Therapy
143 How does suppressed neurogenesis in the hippocampus contribute to | Answer
depression? option
(a,b,c or d)
a) It leads to | b) It impairs | c) It reduces | d) It stimulates | Answer c) It
increased memory and | the production | the release of | reduces the
serotonin cognitive of new | dopamine, production
levels, function, neurons, leading to | of new
improving exacerbating affecting mood | feelings of | neurons,
mood.. depressive regulation and | pleasure and | affecting
symptoms. stress reward mood
response. regulation
and stress
response.
144 | In a psychology experiment, participants are shown two buttons, one | Answer
red and one blue, and are told that pressing the red button will cause | option
a light to turn on. After several trials, the participants are then shown | (a,b,c or d)
a third button, green, and are told that pressing this button will also
cause the light to turn on, but only if the red button is not pressed
beforehand. This scenario illustrates:
a)Causal b) ¢) Anchoring | d) Answer a)
suppression Confirmation | and adjustment | Representative | Causal
bias heuristic ness heuristic | suppression
145 Read the statements below for assertion and justification Answer
option
A (Assertion): The COVID-19 pandemic generally influenced the | (a,b,c or d)

Big Five personality traits
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B (Justification): Increased extraversion despite the reduced social

interactions
a) Both A and | b) A and B are | ¢) A is correct | d) A is | Answer ¢) A
B are correct | both  correct | but B is | incorrect but B | is correct but
and B is the | but B is not the | incorrect is correct Bis
correct correct incorrect
justification for | justification for
A A
146 Communication within neurons is , and communication d
between neurons is .
a) Excitatory, | b) Inhibitory, | ¢) Chemical, | d) Electrical, | Electrical,
inhibitory excitatory electrical chemical chemical
147 | What brain structure plays a crucial role in fear? Answer
option
(a,b,c or d)
a) b)reticular c) amygdala d) the Answer
hippocampus | formation occipital lobe | ¢) amygdala
148 | Read the statements below for assertion and justification Answer
option
A (Assertion): Online disinhibition effect describes the reduced | (a,b,c or d)
social restriction as compared to normal face-to-face interaction
when using remote electronic communications
B (Justification): Individuals have a tendency to present themselves
in a more positive light on social media platforms
a) Both A and | b) A and B are | ¢) A is correct | d) A is | Answer b) A
B are correct | both  correct | but B is | incorrect but B | and B are
and B is the | but B is not the | incorrect is correct both correct
correct correct but B is not
justification for | justification for the correct
A A justification
for A
149 Read the statements below for assertion and justification Answer
option
A (Assertion): Ethnocentrism is the tendency to judge other cultures | (a,b,c or d)
by the standards and values of one's own culture
B (Justification): Cultural pluralism and cultural relativism are one
and the same thing
a) Both A and | A and B are | c¢) A is correct | d) A is | Answer c) A
B are correct | both  correct | but B is | incorrect but B | is correct but
and B is the | but B is not the | incorrect is correct Bis
correct correct incorrect
justification for | justification for
A A
150 Answer
Match the following: option
A Cultural | i the shared beliefs, values, norms, and (a,b,c ord)
repertoire practices that characterize a particular
cultural group
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B Cultural identity | ii central cognitive mechanism through
which culture affects action

C Cultural schema | iii common understanding of what the
world and society are all about

D Cultural | iv the self conception or self perception
consensus related to nationality, ethnicity, religion,
social class, gender or any other social

group that has its own distinct culture
a) i, 1v, 1i, iii b) ii, 1, ii, 1V c) v, 1, iii, ii d) i, ii, ii1, iv Answer
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